


12

18

20

21

22

23

24

25

26

27 28

























KVA

KVA

AH

AH







10




11




12




13




14




15




16




17




18




19




20




21




22




23




53

4 5 21 500m / 240m =3 =53m
1

4 5 21 W1,170x H1,860 1 1
1

4 5 21 W1,220x H1,880 1 1

24




5/21

500m /

240m

265.0

53

106

106

=53m

W1,170x H1,860

1.0

W1,220x H1,880

1.0

104

110.0

50

60

m

56

70.0

20

20

20

10

1000

1,000.0

500

500

0.14kg/ x 1000 =140kg

1000

1,000.0

500

500

10
0.34kg/ x 1000 =340kg
25

2.0

95

95.0

50

45

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

-25-




0 O

26




27




28




